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{Use only biue/black bali-point pen in the space above and on both sides of the Answer Shee)

1. Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that it
contzins all the pages in correct sequence and that no page/guestion is missing. In case of faulty

Question Booklet bring it to the notice of the Supermtendent/Invigilalors immediately to obtain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without ifs envelope.

3. Aseparate Answer Sheet is given. It should not be folded ot mutilated. A second Answer Sheet
shail not be provided Only the Answer Sheet will be evaluated.
4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space prvided above.

%, On the front page of the Answer Sheet, write by pen your Roll Number in the space provided at
the top and by darkening the circles at the bostom. Also, wherever applicable, write the Question
Bookiet Number and the Set Number in appropriate places.

6. No overwriting is allowed in the entries of Roil No., Question Bookiet no. and Set no. (if any)
on OMR sheet and Roll No. and OMR sheet no. on the Quesion Booklet,

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise i will be taken
as enfalrmeans.

8. Each question in this Booklet is followed by four allernative answers. For each guestion, you
are {0 record the correct option on the Answer Sheet by darkening the appropriate circle in the
corresponding row of the Answer Sheet, by pen as mentioned in the gaidelines given on the
first page of the Answer Sheet.

9, For each question, darken only one circle on the Answer Sheet. 1 vou darken more than one circle
or darken a circle partially, the answer will be treated as incorrect,

10. Note that the answer once filled in ink cannot be changed. If you de not wish 1o attemp! a*
question, leave all the circles in the corresponding row blank (such question will be awarded
zerp marks). i

11. For rough work, use thc inner back page of the title cover and the blank page at the end of this
Booklet

12. Deposit only OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.

14. If a candidate attempts 1o use any form of unfair means, he/she shall be liable to such punishment as
the University may determine and impose on ham/her.
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14U /94 /4(ii)
No. of Questions : 100
Al & WS 0 100

1

Time : QEHmrs Pull Marks : 300
b |

" 2 woe YOI : 300

Note : (1) This question booklet contains 100 (hundred) questions in all
(30 in Section-A and 70 in section-B). Attempt as many

questions as you can. Each question carries 3 (Three] marks,
One mark will be deducted for each incorrect answer. Zero
mark will be awarded for each unattempted question.

59 WA F HpT 100 () 579 T (@7 ¥ 3079
UB-q ¥ 70) | SHUFNYAE AT B a7 T H A0 HY | 0D
g 3 (M) siwl =1 21 wod% 707 TUv B @ % 9%
PIST AW | T AT 97 AAE = 2o |

(2] If more than one alternative answers seem te be approximate to
the correct answer, choose the closest one.

gfE umfirs Jepfvas IO @8 IUR & e gdg et @ Mgeay
St ST T

3 P.T.O.
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O1.

03,

Section-A
(CRE£ k|

P.W.D. Act, 1995 is related to :
[1) People's works department
(2) People’'s welfare department
(3) People with Disabilities

(4) People with disease

dlo s=go o TFe, 1995 7 davg B -
(1} Gy a4 fBurdd= q
(2) Jigey Jedax feurda= @

(3) dige fx oo &
(4) Wy g feefig &

National Institute of Mental Health and Neurc Sciences is situated at
(1) Lucknow (2) Bhopal (3) Bangalore (4) Delhi

ﬂaﬁﬁaﬁwmﬁ?ﬁmmqﬁﬂﬁﬁwﬁuﬂ%:
() a9 (2) MU & (3) S S 4) Reh §

ghe gglz}iggt of :hich state in March 2012 decided to give a grant of
s. 30, to high school pass Muslims gi - :
education and marriage ? s girls for perusing their

(13 Uttar Pradesh (2} West Bengal
(3} Andhra Pradesh (4) Delhi

%ﬂm%ﬁﬁrm%mﬁzmzﬁa@ 9 qRem
o 30,000 99 # FR YA HIY a7

(1] 3T U297 (2) 9T ST (3)  aireer R (4) Rl
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04. Who wrote the famous book - 'We the people’ ?

(1) T.N.Kaul (2} J.R,D. Tata

(3) Khushwant Singh (4) Nani Palkhivala

“§) & figa” IHE qAEX TE B R o 2

(1) &o THo FRT A (2} Fo IRo Fto TEY A
(3) gua Rg A (4) T SEEEET

The theme of the 11% global monitoring report 2013-14 of UNESCO
Was

(1} Teaching and Learning : Achieving quality for all
(2) World Peace ; Education and value
(3) Environmental Pollution

(4) Women Empowerment and Education

gAER & wredl Wiee el A 2013-14 @ g3 R an
(1} Afei gog At @ afafdn qaf@dt B ofta

(2) o 9| : Brr o Ay

(3) FEEGIA diege

(4) TR FATIR TOF TLDIA

Who is the present director of NCERT ?
(1) Prof. J.S. Rajput

(2) Prof. Parvin Kiran Sinclair

(3) Prof. A. K. Sharma

(4) Prof. Krishna Kumar

FauF § ta. oA, & FRees B B 7
(1) . S.og. g 2) O @E e eEear
(3) W. . B, 9 (4) M. P FIR

5 ‘ P.2.0.
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07.

OB,

NEUPA was established in -
(1) 1976 (2) 1986 (3) 1996

JOT W o ogd Y

(1) 1976 % (2) 19867 (3} 1996%

NIOS is known as :

(1} National Institute of Open Schooling

(2} National Institute of Open School

(3) National Institufe of Overseas Schooling
(4} National Institute of Open Scholars

U o At qF ST oty B

(1) A7 s Aege oltw SN wghor
(2) %ﬂﬂﬁﬁﬂﬁwmeﬂﬁw

(3) ﬁwmﬁmeﬂm%ﬂ
4) AW FATYE s oM witeT

EDUSAT satellite was launched on
(1) 20* September, 2003
(3] 20" September, 2005

ééﬁ'gqaqﬁimﬁam

(1) 20 RFr=Iz, 2003 Y famr ey
(2) 20 TR, 2004 @ frar @y or
(3) 20 Ryamz, 2005 Ft T TEr Oy
(4} 20 FaasR, 2006 & fHuT 1371 97

(4) 2006

(2) 20=% September, 2004
(4} 20% September, 2006

(4) 2006 &

L]
gcollegedunlae
India’s largest Student Review Platform

T



10.

11.

12,

13.

194.

14U/94/4(1])

The full form of NTS E is

(1} National Technician Search Education
(2) National Teacher Search Examination
(3) National Talent Search Examination
(3) National Talent Selection Examination

Rl g ol O

(1) A 2R a<d oo
(2} AT DT F TR
(3) AT = wd TNty

4) AT W= T TR

3, 10, 101, ?
(1) 100101 {2} 10201 (3) 10202 (4) 11012
If 5 13 the brother of N, the sister of N is M, the brother of P is J and

the daughter of S is P then who is the uncle of J ?
(i) J 2 s 3) N 4) M

e | .
FREEA TN A

(i) & @ = 3) = @) =
Child ; Family ::

(1) Flower : Bunch (2) Bird : Set

{3) Calf: Herd (4) Deer : Gang

1 - 9RaET

(1) B : J==A (2) fafEar : o

(3) BT : Y3 (4) Wy : ¥

Which word does NOT belong with the others ?

(1) Ileopard (2} Jaguar (3) elephant (4) lion

7 P.1.0.
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1 § § 319 @1 9= org § dafag i 2 7
(1) <Wer (2) Jdgaw (3) arh 4) RNT

15, Which word does NOT belong with the others 7
(1} guitar (2) flute (3) wviolin (4) sitar
P |/ & 39 o9 @ dwafya W & 7
(1) PR @ gl (@) aaRm (4) e

16. FAG, GAF, HAL, IAH,___
(1) JAK (2) HAL (3} HAK (4) JAI
. TECHN, SN on TT Qo o e, .. P ihmns
(1) ¥TH 2) WRwd (3) ™I H 4) & amd
17. Life is related to Death in the same way as Hope is related to :
(1) Sad (2) Despair (3) Pain {4] Cry
AT W W T § ¥ I Nk oM daferg
1) g= & 2) Paom 8 3) 3£ § (4} FRemm |/

18. Mind : Body :: :
(1) Water: Air (2) CPU: Hard Disk

{3) Ship: Qil (4} Software : Computer
q9 : ST &

(1) 9 oEar (2 @7 . e
(3) BT : A (4) HEAUT : HFET

19. Which number would replace question mark in the series
7,12, 19, ? 39

q¥TETEE F WT 9 % qEgy
(1) 29 (2) 28 3) 26 (4) 24
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20. Secretly is to openly as silently is to :

{1) scarcely {2) impolitely

(3) noisily (4) quietly

FY Mo g & A & 3 fArar -

(1) gotwen & R 8 2) ofirear & 9 &
B g & A2 4) ofa & X @

21. In order to modify the undesirable behaviour of a student the most
effective method is :

{1) To find out the reasons for the undesirable behaviour and pro-
vide remedies

(2) To bring it to the notice of parents
(3) To punish the student
(4) To ignore it

SET % DT e 3 GaU9 $ B § qEY ywE9rEh @iy 2

(1) HAFET AFBIK B FREN H @ A0 H IR IER T2
&

(2) AfarEmt | gfed HE
(3) B W T8 I
(4) IEH IVHT HC

22. At authoritarian level teaching is :
{1} Teacher centered (2} Child- centered

(3) Headmaster centered (4) Experience based

fimper X @ AT -
(namma%ﬁaaar% (2) o BfEg Sar ®
(3] NOFTAGE BE A B (4) HIHE TNt ¥

9 PT.0.
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23. What type of teacher would you like to be ?
(1} A teacher who teaches the whole curriculum
(2) A teacher who helps his students in learnir;g
(3) Teacher who is a friend, phtlosopher and guide of his students
(4) A teacher who maintains good discipline.

MY Y T B NFYH g7 e ?

(2) Wﬂmﬂmﬁfaﬁmaﬂm%
B) oreAME it el w e, aife ot mEw B
(4) SAAUH A W ANFWAT TG 2

24. You are teaching a topic and a student asks a question unrelated to
the topic. What will you do ?

(1] You will permit him to ask unrelated question
(2) You will not permit him for this
(3) You will consider him as undisciplined and punish him

(4) You will answer the question after the class

mmﬂwmm@%aﬁ@mmﬁemw
HIAT B 1 ST QT FHF ? -

(1) 39 IQ FHICET 957 IO A ovgufy 3

(2) amaﬁamaﬁaanwgs%aﬁa@aﬁrﬂﬁﬁ
(8) Y I} FEH FgEfy A

(4) AT FTN=T FEEHT I )

10
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28. If a student gives wrong answer to your question you will

26.

(1} Scold him for not having leamt his lesson properly
(2) Explain why his answer is wrong
(3) Ignore the wrong answer

(4) Ask another student to answer and ignore him

9% OF BE MY S F AT I©R 2ar B a7 Iy

(1) I] 39 95 & e | 9 YA B @ =it

(2) de W HLY fF IgH In R wa B

(3) ITd I®T X =WH AL I

(4) FeElt TR o @ SET 3 B FRY ofit IEe) I w5

If 1 will become a teacher my most preferred activity wilt be to
(1) Give important questions 10 students before examination
(2) Dictate notes in the class

(3) Clear their difficulties regarding subject-matter

(4) Make student disciplined

af ¥ s otemam S oTHW A AW Twd 9EERT FE g
(1) 9ifer § veql BB H Teayel 999 Tar =

(2) FET H ATW A

(3) Ra awg @ wwafaa I wfsgstt it gT e

(4) BEl B FwAET TN

11 P.T.O,
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27. For becoming a good teacher, the most important quality of a person
IS :

(1) Genuine interest in teaching
(2) Knowledge of his subject

[3) Ability to contral students
(4} Ability of good expression

Th TV AATH T4 & 1A, o AT o 5eQ gweayget Fogm

2.
(1) Brewr § 3fa sfy @
(2) Rag = a9 &

(3) BET H FEEE @ & Frgar @
(4) o= wftafaa o Qe &

28. A teacher should plan his lesson before he goes to his class, because
it helps him to :

(1) Satisfy parents
(2) Create happiness in the classroom
(3) Achieve curriculum goals

(4] Assign home work and classroom wark

Uh HNEATTH bl F& A o1 Q@ 987 & 99 qiz 9 NeEr 9= aH
afed a4l 45 IUHN gemar HET L

(1) AMATES B T F A
(2) W H 3= Iq~ H §
(3) WIGARH FH TG ®H AT |
4 TEHd oF FAHE Fa HY F

12
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29. "Every school ! subject has a disciplinary value,” it means, that :
(1} it brings discipline among students

(2) [t teaches certain habits and qualities to train the minds of
students

(3) Every subject is the outcome of the work of disciplined thinkers

(4) It requires disciplined methods of teaching

mﬁrﬂmﬁﬁw%m@eﬁmmam%”m
T 8 &

(1) 3% BEl § SrAEd Wk B
(2) 3% BE % MTH BN Fo AN 0 it § widRE @ B
(3) "O® Ry sgmite Rigswt § & @1 gues §

W agaii Remr ffr A sevara o 8

d0. Indian education put emphasis upon :
(1} The tradition of [ndian society
(2) To give Honour to elders & teachers
[3) Cultivation of values
(4) All of the above

e Brem wsa 30 2

(1) T T & 99U 9T
(2) TENYF Td TS B AR QT
(3) Wrelg G&p H gads @
4) I G gY

13 Pr.T.0,
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Section-B
gus-q

2 4
31 [fxax=2[rdx if
0 4

32.

33.

34,

f (2a-x) is equal to :

24 "
[fxyax=2[fpodx if ofx
c [(

f(2a-x) "0@ET B :

(1} [(2a) (2) f{x) (3) -fix (4) -1 (2a)

'tl‘hc time period of an SHM of intensity p and amplitude a is equal

0:

pﬁﬁﬁ@aﬁmaﬁmmnﬁwﬁmmm%:
2nJa 2 ™" 2ma 2

ol T s R @ T

The function f x} = %], atx =0 is -

{1) continuous and differerttiable

(2] continuous but not differentiable

(3) neither continuous nor differentiable
(4) oniy differentiable

T f(x)= |x{, x=09T B :
(1) OdF = ATFHTNg

(2) T ITRY FATHAT T8}
(3) T a1 997 9 & Napahyg
(4) DI UBIAT

Number of co in si : ; :
of degree n 15 1o ot N Singular solution of an differential equation

nﬁm%ammwﬁw%hﬁmwﬁﬁq—m # T Ol X
th)y o (2} 1 (3) 2 4) n -

14
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14U/ 94/ 4{11)
35, If x=rcosB, y=rsinf, the :
_@_E I+ E F i
dx dy -
% x=rcosh, y=rsin@, & :
(5)-(%)
ST + T S ==
ax 7
(2] 0 @ 1 3) -1 (4} 2

36. If x=rcos8,y=rsin8, then :

o(x,y} _
a(r.8)

(4 X=1r¢cos®,y=rsin@, A :

a(x,y)=
r.o)
1 |

() r (2 - B = (@) o

el Y

a7. If“'f[ﬂ: then :

x—+y@=

& T I

ol ¥ ou Ou_
v r[x], Xty
(1} O (2) 2 (3) 4 (4) f{x)
15 P.T.0.
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38. The minimum value of {Z-1| + |z{ for complex values of 2 is :

e demn z & A |2-1] + |z ® =gTaw w19

2 @ 3 0 (4 1

39. The volume of the parallelopiped whose edges are represented by

A=21-3j+dk b=i+2j-k F=3-F+ 2k is:
T T R 5= 2f-3j 4 4k b=l Bk, £=3i.34 20 ERY Nl
g, = I 2 -

(1) S (2) 7 (3) 9 (4) 11

40. The vectors 2i-j+k, i +2j-3k and 3i+4+ sk are coplanar if a =
WIEH 2i-F+k, i+2-3k M 3 +4+5k guaha ¥ o o -
(1} 1 (2} 3 (3] -4 4 5

41, Dirccti':ﬂnal derivative of g=xyz* in the direction of vector 2 +j-]'E at
the point (2, 3, 1jis :
qfeer 23+j-i o e H (2,3,1) Q¥ ¢=xyz’ IV Eiﬁ-ﬂfl'ﬂﬁﬁﬁ g :

1

0y - 2 - 2
7 % © 4

&l

16
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42. Courl i is equal to

Curl fxi FURAT ©
(1) 25 (2) -2 (3) 133 4 -i

43.Let f=xi+_ﬁ+z§. Then div 7=

A T 7=xi+yj+2k TR div i=
1 1 2) 2 3 3 (4) 4

44, E.(BKE) is equal to :

E,{ExE] FET ¥

(1) &(axb) 2) -(ab)e (3 (b)a (4) &x(ab)

45, Differential equation of the orthogonal trajectory of the family of curves

dy
flxy,— =0 jg -
(1}' I ] 1S ;

aml & [ f[xay,:x—y)% % dfte® ISl + IaHe gt € ¢

If
dx
(1) f(x.y.-%]% @ f x,:r,-a]ﬂ
\
dx (@
3) f[x,y,-J;J=0 @ f x.}f.ﬁ]=0
1% P.T.0.
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48. The integrating factor of the different equation (1+ IIJ:—i- 1y =tan'x ;g

7.

dy .
AIHH GHIHTOT (Hx’)aw =tan'x P T ToRE ¥

{1] olm = (2] eu" x [3) g-anx [4’ tan x

2 3
The order and degree of the differential equation :_x%+ J X +(£}l) =0

| dx
15 1

STTHA FHERLT g- +\/”(QJ =0

o Wife % g &

(1) (2,2 2) 3,2 (3 23 4) (1.3

The orthogonal trajectory of r = a {1 -~cosg}is:
r=a(l~cosd) F fqs I & -
(1) r=c(l+cose) (2) r=¢(-cos®)

(3] r=(1+ccos?0) (4) r =csinle

18
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a
49. The singular solution of the equation ¥ = P* "“1; is :

a
gl y=px+— 1 AfRE s 2

P
— +ﬂ 2 =x+£
() y=ex+ @) y=x+-
3) y'=x'+c (4) y*=4ax
. CL dy _1+y
50. The solution of differential equation i8 G-~ 7" 2
{i};r_l-l'}’z
HIFAT THIHTT o T F oA & @ R
(1} y+x=c{l+xy) (2) y-x=¢(l -xy)
3] y-x=c¢(l +xy) (4) y+x=c(l—xy)

lel 33x3 4lxl
- ¥ + + + S
B1. For the senes % 30 2

2.1 1.3 4.4
Aofy x+ 243X AKX @R

2! 3! 4
lim ull —
u +1
1 c 1 —
{1) x (2) % (3) ox 4) G

19 F.T.O.
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52, If un=3.,f(n‘+l)-n and v, 3;:7 , then 1'_[2’%‘ is :

JE u =3 (n’+l}-n AT \',='l,- @ },{’}‘“%‘ g

H L

(M 1 2 = 3)

- (4)

W |~
Py

. l .
53. The series zn_" 1s convergent if :

ot > — AfrErd & aR

n

(1) p>1 (2) p21 B) p<1 (4) p<i

(1) convergent
(2) divergent
(3) oscillatory

(4) netther convergent nor divergent

(1) STi%Erd (2) TUETH

(3) e (4) T ofrErd T @ o

20
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z_
$5. For the series Z:=+:
sﬁ'uﬁ ZI’II“‘I
n?+1 a-.; m
lim U_=
(1} O 2y -1 3) 1 4 o«

S6. The equation of the plane through the point (1, 1, 1} and
perpendicular to the line

X-2y+2=2,4x4+3y-z2+1=0is:

Bg (1,1, 1) 8 #1pT A ai ok YW x-2y +2=2, 4x + By -2 +
1 =0 & Ay THAT H TNHT B

(1) x-5y-11z+15=0 (2) 2x-3y+7z+8=0

{3) 2x-8y+9z=18 (4) 2x-Sy+7z+7=0

87. The image of the point P (1, 3, 4) in the plane 2x -y +z+3 =0 js :
g P (1,3, 4) % afofers awae 2x-y+z+3=0 % ¥ :
(1) {15, 2 2) (-3, 5,2
@ (1,4,7) 4) (2,5, 8)

58. The distance between the parallel planes 2x ~ 2y + z + 3 = 0 and
4x -4y + 22+ 5=0is:

g AHITT AHAA 2x -2y +2+3 =03 4x-4y +2z+5=0 & &
=g B
1

I 1 ]
M 3 @ o @ 3 G-

21 P.T.0O.
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59. The angle between the planes
3x-4y + 5z = Q, 2XK-y~22=5is:
T 3x -4y + 52 =0, 2k -y -2z =5 & &g T oy
ST @ 3 @ ()
60. The length of the perpendicular {rom the point (4, -5, 3)
X-3_y+2
3 4
Frg (4, -5,3) @ T

x-5=y+2=z-6
3 -4 S

_z-6.
=g
$

Va7

%@Tﬁﬁ ............. .%ﬂ?ﬂqﬂaqgﬁ%

—
e T —

(4)

23

?:

| n

to the line
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62. The condition for the plane X + my + nz = p to touch the conicoid
ax?+ by’ +cz2=11is:

O k+my+nz =p & [ AiEET ax? + by? + cz2 = 1 H WY FA
@t B

.rJ‘ 2 2

212 p p oy geen — 4=
(1) al?+ b’m?+ ¢?n? = p? (2) TR P
F m' nf
B) g2 g a P (4) lm+ml+ nl=p?

63. The surface represented by the equation yz + zx + xy = O is :

(1} Cone (2} cylinder
(3) sphere (4) ellipsoid
FAHIOT yz + 2x + xy = 0 TN FEAHT I5 @
{1) % (2) <=

() (4) deigeT

- S

64. Let multiplication in G= {[ ]:x elR, x# 0} be multiplication of 2 x
X X

2 maltrices. The identity clement of G is :

A Rt G={[z j:xem,no} ¥ o 2 x 2 ITEE W W R A
G F TIE 39T &

11 10 00
) [1 1] (3) [01 4 1o 1

23 P.T.0.
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65.

67.

The number of generators in infinite cyclic group is :

(1 1 2} 2

(3} infinite (4) not definite
T Ty W ¥ Taet AN e B

(1} T 2 2

(3) oFTa (4) I sl

. Every subgroup of a cyclic group is :

(1) normal
(2) not normal
{3) normal only when the order of the subgroup is prime

(4) normal when group is of prime order

TF 9 GIE W TAS ITHTE

(1) 99H=

(2) Tam™= A

(3) UM DA T IYEIE N A ofy 2
(4) HEF o §E Sfe Sifr a7 &

1 2
The order of the permutation [I 3 : ;J is :

, i & 5 4
Wt342]aﬁ®ﬁ%:
(1) 1 (2 2 (3} 3 4) 4
24
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69.

70.

If a, b are elements of a group G, then (ab)' =

a3 a, b RFE @98 G, & amgg & &Y (ab)' =
(1) a'b (2) bia? (3) ab

The rank of the matrix is :

0 2 3
0 4
O 6
0 2 3
aep P Y Har e
O 6 9
(1) © 2) 1 3) 2

The set of non-singular matrices :

(1) forms a group under addition

(2} forms a group under multiplication

(3} forms abelian group under multiplication
(4} does not form a group under multiplication

SRfE STegEl w1 A=

(1) aFT & F=d TH WE T96 8

(2) W B T T TYE TART S

(3) U B st o wge s 3
4) YOW B F=w wH W TE g 8

28
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(4] ba

(4]

P.T.O.
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71. The value of the determinant :

265 240 2]
240 225 198
219 198 8]

uRftre # 7 2

(1) 20 (2) 25 (3) 0 4) 1

72. Abodyis projected horizontally wi
y with a velocity of 4m. :
of the body after 0.7 second is (take g = mnt{ }3&3’/ sec. The velocity

(1) 47 m./sec, 2) Js1m./sec,
(3)  J63m./sec. (4) Js5m./sec.

73. Il the particle at O is in equilibrium then the magnitude of a 18 ;

wﬁoﬁﬁwﬁéwﬁmﬂ%mawﬁm%:

(i} V7p @) Jsp {3) Jip (9 25p

26
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74, A bullet hits and gets embedded in a solid block resting on a
frictionless surface. In this process :

(1) Momentum is conserved
(2} Kinetic energy is conserved
(3) Both momentum and Kinctic encrgy are conserved

(4} Neither momentum nor Kinetic energy is conserved.

T ed a9 X Rraia oF 3| ed ¥ o el e S| ®
Ty @it &1 gy ufsar o ¢

(1) 3 wftE 2

(2) "= oot St 8

{3) @A AT wF A Fot G B

[4) T @ JRAT addE & AR 7 9 A ot JSfEa B

78. The eccentricity of the circle x? + y2 = ais :
T X2+ y? = ad B IBAT B ¢
(1) o 2 <1 (3) »1 4) 1

76. The radius of curvature of the curve J; + J; =1 at [E':ﬂ-] is :

a Jx+\y -1 A aeT P g (1) OB

1 1
@ T (3 5 (4)

&l-
e

(1}

27 P.T.O.
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77. if y = sin {a sin'! x), then (1 - x% y} is equal to :
A% y = sin (a sin ' x), @ (1 -x3)y! FUET T :
(1) {1-%3 (2} a*(1-y9
(3) a?(1-x3) (4) a*(l+y?)

78. The whole length of the curve y* = x* (a-2x is :

qm y? = x? (ad-2x%) F) T T R
ma
(1) xa 2 @ [4) 4na
79. The value of [0sin'0 d8; .
1]
'e in'0 de :
! sin H/ AT B
n 2x 4
n 3 @ T @ i @
— panl| COSX d
8O. If ¥ = tan [Hsinx]’ then -d—iis:
_ ] cosx d
afe y=tan [l-fsinxJ"?Pt Exz ¥
1 1
S @ 3 (3) -21 (4) %
28
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&1. The Central Limit Theorem states that :

(1) if n is large then the distribution of the sample can be
approximated closely by a normal curve.

{2) ifnislarge, and if the population is normal, then the variance of
the sample mean must be small.

(3) 1if n is large, the sampling distribution of the sample mean can
be approximated closely by a normal curve.

(4) i nis large, then the variance of the sample must be small.

SR U1 Y TET FRdr @ ¢

(1) 8 n @27 & O ufdest = S5 v aenT @ Wl
AT & 5 2 |

(2) 3R n =TT & AR 9w mEE= T Dy GTE = AEIOT
BT 3T 9ifed |

(3) 4k n FTT A O vfaest A @ Afd=as 9= o gaPT 9@
# wiq FTEhT & ' ¢

(4) % n THT F I ARy B gEIr BT = Sifdw

82. Given the data

Commodities
A B
p0 1 1
g0 10 5
pl 2 X
ql 5 2

where p and q respectively stand for price and guantity and subscripts
stend for time periods. Find x if the relation between Laspeyre's (L}
and Paasche's (P) index numberis L. : P ;1 28 : 27.

(1) 4 (2) 12 3) 7 4) 6

29 P.T.0.
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e o §
T
A B
po 1 1
q0 10 5
pl 2 X
ql 5 2

gyl & 1 x gray o | ' il
%WWL:P::QS:Q"?iﬂ P RAL | (P) Y= eyttt

(1) 4 2) 12 (3} 7 4) 6

83. Increasing the number of periods in a . .
‘ moving ave will a :
Ereater smoothing, but at the expense of : rage ccomplish

(1) Manager understanding (2) Accuracy
(3) Stability B . § Responsiveness to changes

T TR e - '
mmm%ﬁ?ﬁﬁmﬂmﬁmmm
(1) 599% = ghgard (2) ey

B3] Rerean @) wRad # shb

84. If L, =~ 6,93,435 and 1,, ~ 6,90,673 ;
T 1 = 6,590,673 then what is the probabil;
person of exact age 20 will die within one year ? probability that g

(1) 0.00762
(2) 0.00123

(3) 0.00398
(4] The probability cannot be obtained on the ba.sis of thi
information. o

30

L]
gcollegedunlae
India’s largest Student Review Platform

T



14U/94/4(il)

A L, = 6,93,435 AR 1, = 6,90,673 &) & 59 W B WivE w4y
et % 20 o 1 o wafd o ad # g B T B wWIw
(1) 0.00762

(2) 0.00123
(3) 0.00398

(4) ST YN B AR R Wit S A€ ®/ ST owat |

Are all employees equally prone to having accidents ? To investigate
this hypothesis, we looked at the following classification of the
accidents by the type and the age of the employees.

Age Accident Type

Sprain Burn Cut
Under 25 9 17 5
>=25 61 13 12

A chi-square test gave a test-statistic of 20,78. You may assume that
the tabulated value of chi-square at a = .01 is approximately 9.0.
What is your conclusion if you test at ¢ = .05 ?

{1} There appears to be no association between accident type and
age.

(2) Age seems to be independent of accident type.

(3) Accident type does not seem to be independent of age.

(4) There appears to be a 20.78% correlation between accident type
and age.

31 P.T.O,
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U B %
ATy Y o @ oum o
25% 9 17 5
>=25 61 13 12

t{mchi-aﬁtrﬂmz?rﬂiﬁaazﬁwﬂamaﬂqﬁzom

78 ST

T8 A 86 B B chi-atf &1 g s n%OlHW—E:T&;?;

%lmﬁmw&nuﬁm ¢ =.05 9T 98¢ ey ¥ 7

{1) %miwqﬁmﬁﬁﬁm%ﬁaﬁﬁmﬂmﬁ
l

() oY FHeN B IR A @y v Sar B
13 ST W 5w oy ¥ wa v A8 By 2
(4) @wamqﬁm%ﬁazwmwmaﬁm%l

86. We wnal? to draw a sample of size 6 without replacement from a
gopulatmn of 50 households. Suppose the households are numbered

2 N
1, 02, e 50 and suppose that the relevant line of the random
number table is showing the digits 11362 33692 96237 90842

46843 62719 64049 17823
. Then the nuy :
households are : mber of the selected

(1) 1113366223 35 (2) 1136230842 45
(3) 1136235692 96 (4) 1135234246 19

32
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87.

88.

14U /94 /4(3i)

S0ud @ Uw €W @ BN 6 R W T ufitRel e aiRverdA
Rafy T g @1 9 & | 9= A B a0 & 01,02,
50 Temoll TRT HEaGa Rea T § aa AT S

o oitell @1 Jugaa qfeRy 11362 35692 96237 90842 46843
%2?19 64049 17823 TeAI! H <oiey 81 @ FA EC T T FEAN

(1) 1113366223 35 (2} 113623084246
(3) 113623569296 (4) 113523424619

Which of the following are true statements about sampling error ?

A. Samplingerror can be eliminated only if a survey is both extremely
well designed and extremely well conducted.

B. Sampling error concerns natural variation between samples, is
always present and can be described using probability.

C. Sampling error is generally smaller when the sample size s Jarger.
(1} Aand B (2) AandC (3) BandC (4) A,BandC

c. nﬁwgﬁm:ﬂaé&m%mﬁﬁnﬁﬁ?mﬁwﬁn
(1) ATEB 2) ATEC (3) BWEC (4) A,BEEC

The number of traffic accidents per week in a small city has a Poisson
distribution with mean equal to 1.3. What is the probability of at
least two accidents in two weeks ?

Rl 812 98T # nAE aeE A I A gienst Y wen %)
1.3w%wé&mmﬁmwm%uﬁmﬂ

9 | H9 A gHHel & wiwm w8 7
(1) 0.2510 (2) 0.3732 (3) 0.5184 (4} 0.7326

3 3 P"TIO‘
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89. In a statistical test of h i
ypothesis, what happens t . .
when a, the leve] of significance is rcducige? I R

(1} The answer depends on the value of B.

(2) The rejection region is reduced in size,
{3) The rejection region js increased in size.
(4) The answer depends on the form of the alternative hypothesis

TRFIT F uF gy By
mﬁsu,mﬁwmmmzﬁ::{rgmmz S b
(1) B & " 9T Iux RBsix e B

(2) TR &% SER ¥ P9 & a8

(3) orengfar &% et ¥ oifies @ oy 3

(4] mamq&m%mwﬁﬂ?m%l

90.]natestan*p=04a 1
- v against H, : P # 0.4, a sample of s;
produces Z = 1.28 for the value of the test statistic, ThPLJS the :ira]ig{;

(or observed level of sieni i
" of significance) of the test is approximately equal

H,:p=04% fdsg H :P#0.4 % 9feroy § w100
T wifeE & T & Ry = 1.28 y¥ga &ar ?) 3w gen

91. If there are 6 treatments and 4 blocks in a randomized block design

34
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922. Which of the following is not a necessary assumption underlying the
use of the Analysis of Variance technique ?

(1] The sample are independent and randomly selected.
{2) The populations are normally distributed.
{3} The variances of the populations are the same.

(4} The means of the populations are equal.

& favaider fafy & st F ot Prsifeiaa § 959 oaws
AferEmeqr T 2 ?

(1} oRmd @dy @ gefies ga) & g9 ™ &)
(2) 99F FEMg &9 # sfea @t

(3) TEAW &b 9GO TH FHA of |

(4) TET F HIY FOIT & |

93. If X, and X, are independent random variables with moment
generating functions

3.1

3.1.,Y
M )= [;‘ + Eﬂt) and M;()= (E + ;e‘] {€ R respectively. Then the

value of P(X, + X,=1) is:

= EaA =X X, X X, @ oyl S wae sEa M.(t)=[-}+:e‘]

eﬁtM,(t)-—*[%'f‘-l-e‘)j,rER, g1y P(X, + X,=1) & 919 8P :
N @ 3 @ o3 @ ofF)

r g

35 P.T.O.
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94. If the distribution function of a random variable X is given hy :

0

.!.(5.4.]
2\ 0

1

F(x)={

if x<-8
J if [{<8,6>0
ifx>@

Then P (x »@-1) is equal to :

(1) zifeqi;%irezl

(3) ONBq%;I

(2)

: 1
fO>—
201022

(4)

2

20

A OF AGRES 9 X W SoaERar s B @)

0
2\ 8

F(x)=:

q Pix >p-1) &

lﬂﬁﬂﬁl;

(1) i

(3) D3RS ql;iqﬁteal

2 26

if x<-8
if|x|<6,050
if x>8

M B gfe

2
2

a2 2 2

4 3

36

e

1

uﬁ9<%ﬂﬁﬁﬁ2

ﬂﬁﬂﬁlﬂuﬁﬂzl
2 2

1. oo 1
9 lfﬂ'ﬂi—,llfﬂli

Lire<liiresl
2 .

L
2
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9S5. If you buy one ticket in a game, the probability that you will win a

986.

97.

prize is 0.11. If you buy one ticket each month for five months. What
is the probability that you will win at least one prize ?

A ATY fH I F oF fewe
LS G § Al D WY o R

e 0.11 81 a& g ez ara qd=t MG [
D AE T O § A TR S G o O G Ay o

UIAHAT a1 B 7
(1) Q.55 (2} 0.50 (3] 0.44 (4] 0.45

Which of the following is NOT correct about constructing histograms?
(1) The approximate number of classes is 1+3.3 log (n).
(2) All class intervals should be of equal width,

{(3) The bars of the histogram are centred over the midpoint,

(4) The first and last classes should be open-ended te account for
extreme points.

AGd 3 & g F F=fofaa & a9 a1 @l =81 & 2
(1) =TT Y g9 e 1+3.3 log (n) 8- af2d |

(2) & Soft IFaae T SRR el $ 8 aifed

(3) 9gT o & IS vy g @ afem a1 anfsd

(4) geem AR afw @ o Rrgelt # R ger & afed )

One use of a regression line is :

(1) To determine if any x-values are outliers.

(2) To determine if any y-values are outliers.

(3) To determine if a change in x causes a change in y.
(4) To estimate the change in y for a unit change in x.

AT I F TH IIAT B

(1) a8 FiREd & & R/ o x99 gy )

(2) T€ FiRea & & = B y-HA 1T 2

(3) gaﬁﬁaﬁmﬁﬁmeaﬁéqﬁaﬁﬁyﬂqﬁaﬁ?mw
|

4) x ¥ 32 oRadw @ & y & qRacd & SfiHaa 6|

37 P.T.O.
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98.

The value of a correlation is reported by a researcher to be r = -0.5.
Which of the following statements is correct ?

(1] The x-variable explains 25% of the variability in the y-variable.
{2) The x-variable explains -25% of the variability in the y-variable,
{3) The x-variable explains 50% of the variability in the y-variable.
{3) The x-variable explains -50% of the variability in the y-variable.

wﬁwmwmmre-osmﬂmﬁwﬂﬁah
T Ry Ot B 7

{1) x-¥X y-uR @ 25% IR 9@y 2

(2) x-=F y-uX &l -25% gRad=efiaar sam &
(3) x-9IT y-=T W 50% IREdshqar =amen B
(4) x99 y-OF T -50% IRadALiaT samr 2

What is one of the distinctions between a popuiation parameter and

a sampie statistic ?

(1) A population parameter is only based on conceptual
measurements, but a sample statistic is based on a combination
of real and conceptual measurements.

(2] A sample statistic changes each time you iry to measure it, but &
population parameter remains fixed.

(3) A population parameter changes each time you try to measure it,
but a sample statistic remains fixed across samples.

(4) The true value of a sample statistic can never he known but the
true value of a population parameter can be knowrn.

38
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@quﬁ%mmﬁﬂaﬁa%ﬁa%ww%?

(2} = e wifeas g a) oRafia @ar § o ey = R
B ANT FW ¥ Ty @ T e BRET S 2
(3) P G9H WA T IR uiEfta Sr @ o ong 29 @igR #)
mm%wmeWﬂwm
|
(4) % giowe wii # aralds w50 gr T@ fwar o
T Y O W A H A s 96 g @ e 8

100.The results of 10 students in a test are listed below. Determine the
value of x if the mean score is 76 *

108HE # o TheeT § wa ofh Y gelam ¥ 1| AR g sim 76
B WM xw A A AR

Score Number of students
45 1
65 2
75 3
X 49
(1) 80 (2) 85 (3) 90 (4) 95
39 2000
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10.

i1,

12.
3.
14,

e & o
(§R JrA®T & TUT ATATOT 5 qT qwy INT-u¥ & JN e g7
#ary Ael- wrelt arer-anye A7 /@ 8 frd)
¥ Y e & 10 B & o & @ © i v § ol g wieg @ st e
YR 27 T ) Y A0 TR TR T §ER GEA Tohre F-Friee | e wepol
WA H TG P | WA
qlen w3 § Mot v o & Fife, faa 71 v w2 g s A
# 5 ARl
awe-gx Jvvr R ey oy 1 ¥@ 7 @t g v 7 oF g &1 qRTr - o T Ry
ooy 3WT- 7 T B yewiwm e ey
AT HF T ST-T F HHIH T4 HEO-J8 W IR @ fuifea =@ ® b
F-U¥ & Waq 72 QT 97 & 30w srpwww it vny ar frg a7 R ywt wt
wﬁgé} wxl- ozl arvme wt oyl WE-YAE B wE v A2 &1 TAT Iy @
qr frel
o THo Ho VX T ATHA® AW, XIS Wom @ ¥z wow (7 &y ) 7w
;!;;ﬁawww M Fo Tho Fo ¥ WEAT WY TRAER ¥ FuferT B AP
'}
I T 7 Sy W aitwT s 0w g swm g il s oy UF g
WIS &1 ST WA W
793 gieter ¥ s 9y & art $wfe0m 3o @ nd 1 v vy & dwfow 3 & i
T FAT-47 T} TRy ofEy & g B2 M g w1 IT-9% & v ve g7 AR
et & agmr o7 8 myr wew
Y% ¥ % I & fog Faet 03 @ 99 B T W @ i g9 A e =@
W HE TF g9 B A R W 4% ST T J SmAm _
&7 3 1 o aw @yl @ e 3av aTon W W www 1 9T I fEwh vy w1 I
7 g amyt &, ot ey ofRY & wrrd G 7@ wft got &t weh 93y &1 @8 wv e g
F& R I
6 #E & [T T3-S TS $ N a7 W IW-qRm & A 9
WM B
T8 & 30 a7 F OF T IAV-9% TOGT WOH F S o &
T W B ® UES T8 WA R it 9 @t Skt 7@ e

ot iy sregel o & arferr WAl @ vl S &, @ a7 PreataaeE g Rt
3T T/, R Emva
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